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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. ToUor % 39 % 1 919 SA1ST S IUAEIST Hl BH o IcATal hl Gl o d
graferd 2 |

Name the marketing function which is concerned with informing the

customers about the firm’s products.

2. TfteRt wd gt s for o Sem-fesmsm €, 3 1ot “heme urgae fafiee’
FHEHT TG S o oTT Tk 9fag, HeH feseR s@en @ T 818 41 |
35 fofa fren fF 3 fa9 4w geie =@ ww TP R
Tesmefam g st gorsr udiedt o f7u shifenT shemsti o1 TS Rl | i<
=X o TTC 381 918 & 9o o1 JuW ad foRe W fora | 3em g @i
37 foremfelai st Aie@ i Ffafafoat S e § 2T ot | I8 quied ¥ S
T Toh 3TeRT HaETd FETC 1 &L 34T 81 @ Toh of RIS <hl &FeeT ol
9l ITANT L IIE, o HIeehidt i @ia o IR § e s @ 9|
“TFeHe gae fafiee’ o W & dg@™ | Yol qon W et ficd wmgae
faties’ & am @ e fifén dun Ryl w1 sggE™ 9o ) o | ufeekr A
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T @ Tk TR 3R 97 wEaE @ T stem-sta fafrem fee fomm @

ST TieTo Ueh Sieiend] AR Tiie fSreert ST St & gy fokam S |

e 39E G g T |

“TheHe TTgae foafiee’ i Tomh ISl STaweRdlal shi INTiad i aTdl Teh
EIRESIEL 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not
sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them
without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’

3. focitam fofai o @ forelt woh fvfar g forftr weirar o afterafea 1 sTehR
AIIEAT T Tfafien i it & | ol 1 A STd gU 39 Socid
I | 1

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.
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4. 'Y FW FEM H AGRAT 21 39 HAT H TIE  TRAT W68 ok A H
3o I |

‘Management is the process of getting things done.” State the meaning

of the term ‘process’ used in this statement.

5. WIS A U T gMER § o &1 U Uohe TltaT qe 9 foh 39eh oiad
T feU U Teug WE ®Y U T 9 I Hohd 9 | 3T 3Eeh! Rend e |
61 | Tk TeTRad SHTATEAT Wold U SEdHT < I8 Seci@ fora o 3 a7 ffeera

T Toh SR & Tom™ Tohel i 321 foran ST aem Sieg & gu1ed oieall oh

19 ISR H§ AU Yehe IqTs9 o U ST |

St < S 3usTi<hT AR ol YT fora 3et Seei@ it |

Manuj bought a packet of chips from a local shopkeeper and found that
the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

6. 39 TSI G<l 1 A7 FATST, S WA -1k o ITAT hl SRR hl
FEET A2 |

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

7. TR 3T=LUT o Teh dcd o ®Y H ‘Saeicel hi 379 Fdmsy |

Give the meaning of ‘accountability’ as an element of delegation.

8. ‘hraicHsh ®IEART H ‘fllersh <l y{ftreht o1 Ioi@ hIfTT |

State the role of ‘inspector’ in ‘functional foremanship.’
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9. ‘TIR TewurseS faifiee’ o fouuE steger- STy, 3T Yeeue - T qu
e GEIEH Teleeh-SAlfd 3 hra Bied sk ol formm |
FA % YT HRER] Ja-eh J AT 99199 Y69 SAlfd ol a3
3T gAY TR fo a7 dre Bied ¥ e @ielt ual @i W) | I giud wd
BT A 3 gara e for 3ueht srefiey AT tetent ufed sigd & a0 w@
forvaaia ® | afe vwergea | 38 I R T S at a8 @t steavas
Mt | T FEHT Ta-ash 38 [T T8Hd 8 T | HAN STeTe! dfed 4 iy
fereed’ ° graeh foha Smeia O weumssist fities’ o foru fomum sreaey
o 93 o1 T o | o st o fTe Uer Sogeh et ol sl | St BT |
WA % T U 1 FrEfed § Iuctsy AUTRIA TTeATast 1 SITe-TE &ieh
ERIKIRIN
(31) 3Tk Tk U@l ol W o ToAT TR Tretmgsist fAfHee g1 S et oh

Gl o AT TS |

(9) I U2 T 37cff o Tk Hdi o Teh-Teh A1 1 Iooid o ST | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,

the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to
leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters” who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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10. *ft T9F 980 GO Sk ok SHET A | Sk ST A9 ARTT F T AT |
SR S5d G 9 Fifeh sieh (AT &9 AT T YA L & A7 | 3ok
M o1 ISR oI i Fafa §9 € 9¢ &1 97| ok A1 deh ol STTRRIE0
T 1 HIYON L AT o1 | §91 180 Sd o foh 36 =9on & @1 s
I T oA TG | o I Th 6601 BH ok AT 3¢ & o 3T @G h
AfehR & o7 | IR ST U ot fir et i gomn i 38 I d% %
3T W 5 e T faffsa s o fore ke, a3 dsfira @ o oft
arIaT fopar |
RIS M AT Yo 40% &€ TAT HR G o6 T30 1 IR e X 7
FAUS B AT | 3Y 2 FUS T I A AT | I8 1 S T T 480 i &
fau ot 1 e ¥ w9 wa foru | st wfasgfa wa fafrema o (Rl) g
GioTH aTell § YRdrs U@ Haftd S & 16 369 A-IHad 1 gt g |
Tl T 1T U TR AT TR |
IRE =3¢ ¥ Uikl ol Iga L T Teft grr Fronfea formell a1 shrall =t
qe1{-T Td ITehT S hIfSIT |

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was
earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to
buy shares of the bank. He called one of his rich friends Sudhir and
asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of ¥ 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On

regular inspection and by conducting enquiries of the brokers involved,
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Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two
functions that were performed by SEBI in the above case.

11. SUHHT TETT o U TR-Teh T 10 TF9d foht ST ot Tl 9
T T Ioeid ShITTT | 3

State any three functions performed by non-governmental organisations

for consumer protection.

12. it Y=g 9 Torehiieh TetTgsisl o €] § SR fafee TR o fofdpe s
1 SHIHE L T & | TS H g a1 =1 o1 3R &Y U el & a1 @
g | 3T AU qF 9, oo sfi-enedt ot wrshw ot B R, @ gmem
FIT G o foIu e |
9« g foh e | |l YRR o foia o o StfereRR 3|ek T o e 9 |
35k TUAT T =T H forvamd 8 T@d ¥ | $9e Jionmea®y fRh @
FHAT AT ThH-ga F TN ! THH &9 H T8 TH ITd o | 39 HRT
FHHART G-I o AT AL T TTH T 2 o & o |
(a7) Wt TRl @1 T arenedt i yem Hifeg e wwr faewie
TeTITSSIST 319 &A1 ol ST el ot o1 T off |

(9) 3wk (31) AT H Ug=H TC Tedeh 181 o YehR sl Teh SN S0 Al
Jeei ey 3

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.
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13.

14.

Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

RIS o W o foheel o9 folrgatl sh! THEST |

Explain any three points of importance of planning.

‘STt fafiee’ w1 et o & | Y @ off | Fe 7y STkl AW T
W AT 3T USRI Rl TG o ok To1e Taler Tl <kl A1 oRdd o | Shede
T it o STIHR a1 TS SIS S AT FHAAT T, STich 3Heh! 319 TS /i
ST AT L off | SOH 7 Shael AT 90T oI o7 fuq -t Fm

A GaEi ohl 3Tehal H ATAT St o ToTT HSTe BIAT 9T o |

3ok YRR, 75 HSTcHS 32941 <hl ITH o feT 37 TR & &
TR AT o ST I TS o | R oh &I R AR hl 39k
IR H AT IAT | IF W AT R AR, 39 AN H 3Tk A1 ==l q
ot it I Hifa aea & | 7' Fola o wen f afesr § Sar afga ash
T Tk A1 AT hidl R AT oF T 1 GGUAN e & a1 UTSehi
I &t ST JTelt TR == § T | ST FehRIcH T9TE ISl 3T 3 o6
I TR | A T F ATfed alioh © T T TRE R o |

&I R SATHRRT TR TR T4 o 1 o qcd hl RINATAT T 3gT
i |
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‘Alfa Ltd.” was dealing in renewable energy. To get the business, the
team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members
to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by

the CEO.

15. T& w1 ST YR J 1 fauue R @ oft, S gEehl uEEn iR
TTEh! I YGH I S ATl fas 3w et o %Ry agd virg 9 |
T ISR | Wk AUV HEOT off TR STcafieh v ARSI o @ eft |
AT AT o THRUT IO F TIhT -39 Faredi T eI o1 978 L fea |
TG RIS UTEeh! o A1 HFOHT o Te9 @ Gl T a1 ST hl T
H et il Bfa @0 8 T | TAH AW o A1 STATAH HH B W IA
Jee 3Heh o1 | Tafeid gt | faeeyor ot o8 wan = for fasraiowma gansti
1 SH H TS T TEehT R0 AT | 37d: T A ST hl A H I
IR B &l T HH [T THH IR FH o € Gl 99 3T
JTUTT, | $Heh TRUTTHEEEY THTS i 38 § HraHt i Tanfd ger 7 |
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(31) STk afvra feufa 7 favomeral g1 ot & Bfa &t gare & foe w3
TEINUT o AL 1 T FdTd g SHAT 3@ hiteIg |

(F) T (37) T U= T 1A ht SR ot THesT |

A company was marketing ‘water purifiers’ which were very popular

due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

16. bl T BT &1 H SNSd SN W oAt <8 | shold! & IcaTed grent T, St
for difee foremer =1 fogm o1 weh fomneff R, 4 w2 o =11 sfean @ =
foram | fSTeeh 310 98 F3-Fe) ¥ I S99 1 ITAM i dTefl HRI T
STIHLT T T IThT ehT™ ST | 36 Tk Vet & SR o1 ok foram qen
34 freq femer g0 st fogme wior # wefiia fora | 59 s1ggam & fog
34 W JURR & FEATHA foha T |
STk fedrfa ® =fia e waferer o STt Sl T8 ud a9esy |

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
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17.

from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

et fafade’ 4 3@ & T S &9 H, & FE %k 95d FwH IFTE
3uetsy o, wiar fmior it ek %ot Tenfua s o1 foia fomm | 3@ @ &
A 9 Eelt fafaee’ & 39 YA o w@mTa o | St | AT Rl R
T srmeRita s & foe sweat 3 =g oft faola fomn for et i & w5,
LTS, TSR 3eaTia et sgd €t gloemd «f 3uersy s e |

(3 [ o 0

e fafres’ 3 stcafiss oy 3AfSTa T I o T3 | Uk 3= Wi
FHT T AU IS Yok TEeH skl el fafres’ g sfsia ferg s
T ST ATH o FHIUN ohT UdT T oh foTT hel |

T8 A g foh ST & el # weATeHeh 3l sl ity ok ot fafva
foranat o st Safeua o= ® | Y% i ol 98 J19 § o 6 foroeh
g ITERA T STaTeaE 8 | hadl A Ta1 2 Toh 39 we H TEwor g
STEE o HIEAW | & 211§ | Salfeh Wial faAfies’ qriuvl shi STEvaehdigdi
ooft faemett § vanfea g9 it ogufa yem wdt 7, fSm@ gemmeti & iy
TATE BT 2 37T I off i I S S R |

(1) TS oh 39 YohR hl ITATHT ST FEIN0T bl Tl fammedi ® varfed s i

et fafiee’ i srgufa yem w2 |
(9) 9T (3F) T Ug=H T B3 o YR o Teh 3T 19 1 3@ SIS |

(|) T < gedi a1 3g@ SIfve s it fafiee’ aurer w1 aeifva

TTEA 2 |
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‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the
backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other
facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.” the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)
above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.

18. @ =X forgafi 1 THemST St Yoy & fgrwdl sht Jehfd T JehTST STerd ¢ |

Explain any four points that highlight the nature of principles of

management.

19. STfieh STSR & T2 YSit Frie st forel = forferal o1 3g@ shiise |

State any four methods of floatation of new issues in the primary

market.
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20. 3TV TSTG hl Uk TEULE FHOH] H HRd 1§ | e et fl 9 38 gan
oT | STel 3ok Ttk ohl i<l 1 T8 A Il <Iell foh 38 ST 8 37 38 wieeie i
et off S5 W 81 718 2 | 37 3 e H Wl SHLET T q1 SRl A
39! Th T hl Tt <1 | 39 Teh @reft 9 3ueh Tl “oft IR
gHeh! U foTiad F=1 &1 | ot AR | qd & Eed o 9eft et
3R] o TIC Th-3M S ol M1 A §C T foiftga =1 a1 | 519 g
Teesh i 39 IS H qaT =el al 384 REOH] IHER ok STET e qe
JTHITH o & sl EHTE T e o |

(37) STh =88 ¥ 3Igd Hd U UG T ST TrNT g
Trafea afhal ot 3R ifs |

(3) ST T oAl feheel 1 forivaratl 1 et ey |

(|) 3Tk uifefa o awTst ot Trifva fore S aTel foredl 31 gedt ot 9eam
i | 5

Arun is working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.
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21. 39N 99 AY - Qe Wik § 1ot fert gff i | 3ud e wma a Fe],
TR F YL&AT I aTett Ueh wra-t H o foRaT | 98 59 ot § g1 e off
3R 38 I7 Foia T foh a® 3ot Wohm <l 1o} Uk Sifosk @mer SRt
TSRUUT ShTS T T | 30 329 U9 e fgtid fopu ofit 38 umw
T R -AISHTE T |
3G T 3e¥d TUW an # fafifsa aftt w 10% @rv SAfsia e on | 3w
frofa foqe e fo o w1t S8 wa, wfest, Tt 3caTfe 9 Wl i 3R
T A S BEA T aTel foRam & & Tl S | 38 98 ot fl
foran for @ ht G o HIEIH & ITATGT o [o/qUH ok ToTq |ft STrarwarsh =won
T UTHH TR SITQT | 3T IcTE Jal=eish o €9 § Higd ol Ry foram forem
3cqre fopmett st faswifaa s o fatfa adient 1 oft faofe form | diea 3
¥ WA HFdt H I ST ST HHETHAT oht T&AT h IR i arett feorawor
ol T o | 3T STt STkt o fore Wy A Hiew i aErgEr fafie 3ami
% AT A& ok 9 W off gl foRan | Sared 99 W FE Hd 99 2,
TEAH qT T 7 98- W T 100 Tfafed o At shi =wor off i 7 |

3R TF=se ¥ Ufthal Sl 3gd i Y 380 afid fafyrs A o TR

! TE=T SHITSTT T 3 eS|
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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23.

66/1/3 15 [P.T.O.

manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, area wise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was
announced.

Quoting lines from the above para identify and explain the different

types of plans discussed.

o= o 4107 Ua T 1t o Hed greleel ohl GHETEY|

Explain the relationship between controlling and planning functions of

management.

SR 3 T 94T 31 g | 2T T8 ohl T drdd @dial | arad o af

TS g TY AL oft | TR IUAI ek 98 ST ' TS | ITRRT T

Afafm & =il 3u e e § ues anfrent o A 3 38 =g e

TS |

(37) Sk feufq o 39 weaqyl Ueq] ol e fEehl fouumeRal gl
AT I TE 2

(9) 39 (31) H Jg= T qee] o i b1 §arg | quiq hifere |

Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

case.

(b) Explain briefly the functions of the aspect identified in (a) above.



24.

25.

‘rt feafiee’ weh dersa frmfoft st 2 | sweht 7w dSft ¥ 60 @ R |

el oy g9eh! Jfd 37%1 3T X 0.50 off | fafasfieo & foaw e =i % 40

ARG AR Gt shl SATawaehdn off | 36k fIT &eot 5 10% Forad fifia

ek ford e fopa | = ad o st | faf=isa Osit W T 8 @ v

TfSid ToRam | 38 40% <l & E L T foRa |

(31) 3g@ hifre for fafadieror w sterenfa 1 ufd o1 3@ @ @ gan
ST BT TS | ST OIS h1 T8 €Y & 21 |

() e & Heh Yol @ o 9 & 9 H HEHT §RI KOG o 10 & ver |
forel <f7 Rt w1 3@ ot hifTu |

‘Viyo Ltd.’ is a company manufacturing textiles. It has a share capital of

X 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of X 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of ¥ 8 lakhs on

capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

o4l o HE o [ohwel =R oGl sl THeMsy |

Explain any four points of importance of management.
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